A

EN: WARNING: Suitable for ages 3+ years; Maximum Weight Capacity of Chair: 30 Kg/seat; Table:
20 Kg.

FR: ATTENTION: Convient aux enfants de 3+ ans; Poids maximum admissible de la chaise: 30
Kg/siege; Table: 20 kg.

EN_IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY.

FR_IMPORTANT : ALIRE ATTENTIVEMEN ET A CONSERVER POUR VOUS Y REFERER
ULTERIEUREMENT.



Admin
Text Box


Admin
Text Box



(EN)

IMPORTANT! READ CAREFULLY AND KEEP FOR

FUTURE REFERENCE.

WARNING:

. CHOKING HAZARD—Small parts. Not for children under 3 years.

. Only allowed for adults to install, keep children away.

. To be used under the direct supervision of an adult.

. Place it on a flat and clean floor, Check all the parts are well connected before use.

. DO NOT place this product near a window as it can be used as a step by the child
and cause the child to fall out of the window.

. Be aware of the risk of open fires and other sources of strong heat in the vicinity of
the product.

7. DO NOT place this product near a window where cords from blinds or curtains could

strangle a child.
8. DO NOT to use the seating if any part is broken, torn or missing and use only spare
parts approved by the manufacturer.

a b ON -

»

MAINTENANCE & CARE
A. Keep all instructions and parts relating to this product for future reference.
B. Please wipe down with a dry or damp cloth.

R

(LA

IMPORTANT! LIRE ATTENTIVEMENT ET
CONSERVER POUR REFERENCE ULTERIEURE.

AVERTISSEMENT:

1. RISQUE D'ETOUFFEMENT - Petites piéces. Déconseillé aux enfants de moins de 3
ans.

2. Installation par des adultes uniquement, tenir les enfants a I'écart.
3. A utiliser sous la surveillance directe d'un adulte.

4. Posez-le sur un sol plat et propre. Vérifiez que toutes les pieces sont bien connecté
es avant toute utilisation.

5. NE PAS placer ce produit preés d'une fenétre ; il pourrait étre utilisé comme
marchepied par un enfant et le faire tomber par la fenétre.

6. Soyez conscient du risque de feu ouvert et d'autres sources de forte chaleur a
proximité du produit.

7. NE PAS placer ce produit prés d'une fenétre ou les cordons des stores ou des
rideaux pourraient étrangler un enfant.

8. NE PAS utiliser le siége si une piéce est cassée, déchirée ou manquante et n'utiliser
que des pieces de rechange approuvées par le fabricant.

ENTRETIEN ET MAINTENANCE

A. Conservez toutes les instructions et les piéces relatives a ce produit pour pouvoir
vous Yy référer ultérieurement.

B. Veuillez essuyer avec un chiffon sec ou humide.




\ S

®x2

4)x2

(D x2

7

@) x1

®x2

P
P)
A
P
| e
| o

2 x2
40x1

44 x2
49x2

43x2

12x2

49)x2

16)x2

) x2
B x2

(5x2

N
N e

@x1




A x4 B x4 C x26 D x34 E x34
7 /5 +1(spare) +1(spare) +1(spare)
ODIEN), & -
DE) e — @
M6x38 @12x10 J6x25 M6x40 g10x10
F x4 G x12 H x6
+1(spare) +1(spare)
Wﬂl[lﬂlllllm e===p R
M6x16 M5x25 M4x25

\PARTS |




©x2

e 20

B x2

A)x2

ONEEN))))

4




©x2

E— 0

B)x2

A x2

ORE)))]




©x10

O x10

E[iumnmmmmm@

©x2

E— 0

4




4

€ x10

O x10
20 | @

o2

(B x4







x4
©x12 |

A

= NI
20
e




4

O x
(— @ Eamnnmmeg

A

N
S

l
/\

PN




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12



